u:= 350 n := 3000

u

n

w:=2pn k= 2><|E
PO1:=1 P02:= 0.5 r1:=0.1 r2:=0.1 fol1:=45 f02:=45
t:=0,0.0001..1

y1(t) = (wot - forl + f01)2x2—
180

- P
y2(t) = (wst - lor2 + f02)2 —
P1(t) := PO1>cos(y1(t))
P2(t) :
Pc(t) :

PO2>cos(y2(t))
P1(t) + P2(t)
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PO3:=1 P04 := 0.5 r3:=0.1

y3(t) = (Wit - kor3 + 03)x

180

p
= - k f X—
ya(t) = (wst - kora + f04)2 o
P3(t) := PO3>cos(y3(t))
PA(t) := PO4>xcos(y4(t))

Pc2(t) := P3(t) + PA(t)

r4:= 0.1

f03:= 45

fo4:= 115



R0
PA(t)
PC2(t)

I I I I I I I I I I I I I
0 0.0013 0.0027 0.004 0.0053 0.0067 0.008 0.0093 0.0107 0.012 0.0133 0.0147 0.016 0.0173 0.0187 0.02
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-05 [

I I I I I I I I I I I I
0 0.0013 0.0027 0.004 0.0053 0.0067 0.008 0.0093 0.0107 0.012 0.0133 0.0147 0.016 0.0173 0.0187 0.02
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